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Student Nanie: ID:
Problem #1: Define the latching current for an SCR, and explain with the aid of drawing the

equivalentcircuit model of an SCR, why it latches!
Problem # 2. What modifications are made, when manufacturing, to a GTO to attain turn-off

capability?
Problem # 3: With the aid of drawing layers’ structure, explain why the power BIT does not have

reverse blocking capability! _
Problem # 4: What is meant by the Safe Operating Area of a power electronic device? What is its

sighificance? Draw!
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Fall 2014
Student Name: ID:
Problem #1: Define the turn-off time of an SCR! Draw!

Problem # 2: How does the reverse recovery charge affects the switching characteristic of a power
diode? Explain with the aid of drawing turn off waveforms!

Problem # 3: Why a small gate resistor is needed to switch a Power MOSFET, explain with the aid of
drawing the small signal model of a Power MOSFET!

Problem # 4: Explain, with the aid of drawing the fayers’ structure of a Punch- Thro’t& IGBT, why it
does not have reverse blocking capability! Insick
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